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w7 EFEHMFREAY ERHRE
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3 B dtamE (ERED)
18 B EEEXE

= B EIEHEE

B o#Ms RERHE
BEES 18-11-25-050



BEERRE SHTEEHFIR B EREE

£ b B - BIKHE B3 w 2 B ff & # wm =
EEHIEE 45,297, 374
KR BB LR 45,297, 374
KERAE 45,297, 374
KERAE 45,028, 924
RE A 256, 590
1 AT 1.00 256, 590 256, 590
=
KERAE 37,084, 737
2 EAEEE 1,081.00 17, 056 18, 437, 536
th
3 WEERMO 990. 00 8,732 8, 644, 680
th
4 HmEERMNOQ 216. 00 12,031 2,598, 696
th
5 WHBNEEER (2) 406. 00 15, 468 6, 280, 008
th
6 kLB 1.00 1,123,817 1,123,817
=
i 3,567, 300
1 DHEHER 1.00 3,567, 300 3,567, 300
=
BE 3,828,697
8 BEENDSSEBEDEFREE 1.00 603, 475 603, 475
=




BEERRE SHTEEHFIR B EREE

% b g - Bk-TiE B H = B {h & %8 W =

9 AEHRET—HDEE 11.00 103,171 1,134, 881
~ R

10 SREMEREN 11.00 190, 031 2,090, 341
~ R

Wi - |E 291, 600

11 Ea1ipE 1.00 107, 300 107, 300
B

12 hfEHkE 1.00 107, 300 107, 300
B

13 =E®|E 1.00 71,000 71,000
B

EEZE 268, 450

BR 200, 000

14 £%BESR 1.00 200, 000 200, 000
=

AFARRRIER 20, 150

15 AFARAKESIEK 1.00 20,150 20, 150
=

ZDfh 48, 300

16 MELERERE E-AYDITRE 1.00 48, 300 48, 300
=




WIS SNV EEFMATPBYERAD
% # B - kT Bify g i & #

BEENEE 43,207,033
HRE 39,639,733 x 66.4% — 7,815 26, 312, 967
REBREE 43,207,033 + 26,312, 967 69, 520, 000
E Rl 2,069,650 + 20, 691 2,090, 341
EEAGE 2,069, 650
EERE 20, 691
T DA 2,069,650 x 53.85% ( 35% + (1 — 35%) ) 1,114,506
KBRM 2,090,341 + 1,114,506 3,204, 847
—REERF 3,204,847 x 53.85% ( 35% = (1 — 35%) ) — 657 1,725,153
AERTE 3,204,847 + 1,725,153 4,930, 000
G ES T 69,520,000 + 4,930, 000 74, 450, 000
HEREELE 74,450,000 x 10.00% 7, 445,000
REEBE 74,450,000 + 7,445,000 81, 895, 000




REAR-EI/Nvr—

SHTEEHMRHBYERRE

51
2 AEER 1X&Y
2 £ g - BIRTE By = B %8 W= 5 =&
RIS EFHEm
A 1.50 60, 600. 00 90, 900
B EHER
A 2.00 52, 300. 00 104, 600
B E A
A 1.00 41,100. 00 41,100
RIEBF
A 0.50 34, 900. 00 17, 450
AN 2E0%
% 1.00 254, 050. 00 2,540
& b 1EZREA - 1.00 256, 590. 00 256, 590
52
B BRARER 1BHY (14.9thE)
2 7 g - BIRTE By = B %8 W= 5 =&
REE >4 kN2 2L
B 1.00 3, 546. 00 3,546/2.00H / 8H
RAEM FRP D 70PSZ! 3.0t
B 1.00 84, 885. 00 84, 885 8H
B EHER
A 1.00 52, 300. 00 52,300
B E A
A 1.00 41,100. 00 41,100
RIEBF
A 2.00 34, 900. 00 69, 800
AN 2H0%
% 1.00 251, 631. 00 2,516
& b YEXEES 14,902 17, 056. 00 254,141




REAR-EI/Nvr—

SHTEEHMRHBYERRE

5 :3
2% WEER()D 1BHY (24.8#hm)
2 L7 g - BIRTE By = B ff ) W= 5 =&
REE >4 kN2 2L
B 1.00 3, 546. 00 3,546/2.00H / 8H
RAEM FRP D 70PS%E! 3.0t
B 1.00 82, 569. 00 82, 569 8H
B EHER
A 1.00 52, 300. 00 52,300
B E A
A 1.00 41,100. 00 41,100
REBF
A 1.00 34, 900. 00 34,900
AN 2H0%
% 1.00 214,415. 00 2,144
& b EZRES : 24. 80Kb & 8,732.00 216, 559
HS5:4
&5 WENEEIR (1)@ 1B3Y (9hm)
2 L7 g - BIRTE By = B ) W= 5 =&
REE >4 kN2 2
B 0.50 3, 546. 00 1,773/2.00H / 8H
RAEM FRP D 70PS%E! 3.0t
B 0.50 82, 569. 00 41,284 8H
B EHER
A 0.50 52, 300. 00 26, 150
B E A
A 0.50 41,100. 00 20, 550
REBF
A 0.50 34, 900. 00 17, 450
AN 2H0%
% 1.00 107, 207. 00 1,072
& b EZEREA : 9. 00t s 12,031.00 108, 279




REAR-EI/Nvr—

SHTEEHMRHBYERRE

F5:5
A fENEER (2) 18B%Y (T#hR)
2 £ g - BIRTE By = B %8 W= 5 =&
REE >4 kN2 2L
B 0.50 3, 546. 00 1,773/2.00H / 8H
RAEM FRP D 70PSZ! 3.0t
B 0.50 82, 569. 00 41,284 8H
B EHER
A 0.50 52, 300. 00 26, 150
B E A
A 0.50 41,100. 00 20, 550
RIEBF
A 0.50 34, 900. 00 17, 450
AN 2H0%
% 1.00 107, 207. 00 1,072
& b YE¥HEH : 7.00H0 5 15, 468. 00 108, 279
F5:6
27 - ARERR 1LY
2 £ g - BIRTE By = =i} %8 W= 5 =&
B E A
A 23. 50 41,100. 00 965, 850
REE >4 kN2 2
B 23. 50 6, 722. 00 157,967 6.00H / 8H
& b 1EZRER - 1,00 1,123, 817.00 1,123, 817
&5 :1
B HHTEER 1X&Y
2 £ g - BIRTE By = =i} %8 W= 5 =&
S HTEER FEEME (SS)
= 1.00 3,567, 300. 00 3,567, 300
& it 1EZRER : 1.00 3,567, 300. 00 3,567, 300




RAER - B L/ X7 — AT EH B RS

F5:8
B BEEDSSEBEDE ZREE 1X&Y
2 £ g - BIRTE BT H = B ff ® 5 W= 5 =&
RIS EFHEm
A 1.00 60, 600. 00 60, 600
B EHER
A 3.00 52, 300. 00 156, 900
B E A
A 5.00 41,100. 00 205, 500
RIEBF
A 5.00 34, 900. 00 174, 500
HHE FHEEDY
% 1.00 597, 500. 00 5,975
& b 1EZREA - 1.00 603, 475. 00 603, 475
F5:9
&% AEHKRT -2 DER 17A%Y
2 7 g - BIRTE BT H = B ff ® 5 W= 5 =&
B EHER
A 0.50 52, 300. 00 26, 150
B E A
A 1.00 41,100. 00 41,100
RIEBF
A 1.00 34, 900. 00 34,900
HEE FEEDY
% 1.00 102, 150. 00 1,021
& b YE%8EH :1.004 8 103, 171. 00 103, 171




REAR-EI/Nvr—

SHTEEHMRHBYERRE

&5 :10
2 PAEREREN 17A&Y
2 L7 g - BIRTE By = B ff ) W= 5 =&
FEBER GEED
A 0.50 66, 900. 00 33, 450
AR (A)
A 0.50 59, 600. 00 29, 800
HER (B)
A 1.00 48, 500. 00 48, 500
HAf (C)
A 1.00 40, 300. 00 40, 300
Bt &
A 1.00 36, 100. 00 36, 100
EHARE FHEEDY
% 1.00 188, 150. 00 1, 881
& it YE%8EH :1.004 8 190, 031. 00 190, 031
&5 1
2 . BATHE HEED
2 L7 g - BIRTE By = B ) W= 5 =&
B FEHE
A 1.00 60, 600. 00 60, 600
B EHER
A 0.50 52, 300. 00 26, 150
B E A
A 0.50 41,100. 00 20, 550
& it YE%8EH 1. 00[E 107, 300. 00 107, 300
&5 12
AF : RS 1EHY
2 L7 g - BIRTE By = B ) W= 5 =&
B FEHE
A 1.00 60, 600. 00 60, 600
B EHER
A 0.50 52, 300. 00 26, 150
I E A
A 0.50 41,100. 00 20, 550
& it YE%8EH - 1.00[E 107, 300. 00 107, 300




REAR-EI/Nvr—

SHTEEHMRHBYERRE

513
B mRRRE HEER
2 L7 g - BIRTE BT B = B O{f ] W= 5 =&
B FEHE
A 0.50 60, 600. 00 30, 300
B EHER
A 0.50 52, 300. 00 26, 150
B E A
A 0.50 41,100. 00 20, 550
& it EZ8EA - 1.00E 717, 000. 00 717,000
&S5 14
B EBBERR 1LY
2 L7 g - BIRTE BT H = B O{f ) W= 5 =&
EBHRERE
= 1.00 200, 000. 00 200, 000
& it 1EZRER - 1.00 200, 000. 00 200, 000
&S5 :15
B AFEAREMIER 1LY
2 L7 g - BIRTE BT H = B O{f ) W= 5 =&
LHARABRRRBIERE
= 1.00 20, 150. 00 20, 150
& it 1EZRER : 1.00 20, 150. 00 20, 150
=:16
M BIEERE TE-42UVIHRE 1KY
2 L7 g - BIRTE BT H = B O{f ) W= 5 =&
HEIEERE
= 1.00 48, 300. 00 48, 300
& b 1EZRER - 1.00 48, 300. 00 48, 300




